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MODEL QUESTION PAPER

PART ‘A’ GENERAL APTITUDE

{logical reasoning, graphical analysis, analytical and numerical ability,
quantitative comparisons, series lormation, puzzles, etc.)
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A sphere of radius 4 em is carved from a homogeneous sphere ol radius ¥ cm and
mass 160 g, The mass of the smaller sphere is

B
Gl g,
40 g,
20,

el 2o

Two hoys A and B are at two diametrically opposite points on a circle. At one
instant the two start unning on the circle: A anliclockwise with constanl speed v
and B clockwise with constant speed 2w, Tn 2 minutes, they pass each other for
the first time. How much later will they pass each other for the second time?

1. 1 minute

Z. 2 minutes
3 3 minutes
4, 4 minutes

There are & baskets and » balls. The balls are put into the haskets randomly. If
k=n,

i & There is no emply basket

] There are exactly {n— k) baskets with at least one ball
i There 15 at least one basket with two or more balls

4. There are (n— k) baskets with exactly two balls

A ant is crawling along the r-axis such that the graph of its position on the x-axis
versus time is a semi-circle (see figure). The folal distance covered in the 4 5 i3
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4 m
2m
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dam
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N

I a bag containing only hlue, red and green marbles, all but 15 ane blue, all b
13 are red and all but 12 are green. How many are red?

1. 13
2 f)

3 25
4, 20

Find the missing numbers in the bottom middle circle. (Clue: left halves of the
central circles relate to the left circles and the right halves to the right circles)

1(2 214
4 12
5|6 30| 3
4
7

A%AVe
SOV

1. 10, 20
2. 15,15
3. 218
4. 6,2

ldentify the missing letter.
[e] [¥]
v] (=]
[M] [W]
[z [

O
EHEs

Inforamation provided here is Only fore Reference. It may Vary the

original.
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Identify the figure that comes next in the sequence.

A persot buys a shirt with marked price Rs 300/- at 20% discount. In order to
make a profit of 20% the person should sell the shint for

Bs. 288/-
Rs, 300/
Rs. 240/-
Es. 360/-

B

A uniform eylindrical container is half filled with water. The height of the
cylinder is twice its diameter. The cylinder is gradually tilted unti] the water
{puches the brim, At this instani, the container is inclined at

30° o vertical
457 to vertical
607 to vertical
T3 to vertical

i W o

A car is moving along a straight road. The graph below shows how the speed
varies with time.

SHERd

bme —
Which of the following araphs represents the distance covered by the car with
time?
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12, Intrfangle ABC, shown in the figure, AB is perpendicular to BC. Further, BD
iz perpendicular to AC. If AD =9 cm and DC =4 ¢m, the length BD is

B
1l
o gcm o 45m C
1; & cm
. 6.5 cm
. 3I—"rJl:rn
13
13
4, — cim
36

13, A box ol sticks of equal lengths is provided. The minimum number sticks needed
to build a frame o enclose a 3 dimensional volume is

f
12
3

L

her= is Only fore Refersnce. It may Vary the Orig
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14. 5 kg of adulterated rice has 2% stones in it and the rest iz rice. Half of the stone
content was removed. Now the percentage of stone content in it is

1 0.99%,
2 1%

4 1.1%

4, 1.01%

15 A coin is tossed six times, The probability that heads will occur at least once is

. &
a4

% =
3

. 1

E i e
o4

T
2

16,  Two parameters TC and TF are related as shown in the table. Find the value of
TF corresponding to a TC of 75,

[TC [0 [25 |50 [75 [ 100 |
TF |3 |12 122 12 |m2 )
L 167
Z 162
& 150
4, 200
19.  Several identical cubes are arranged in a close-packed single layer. If the arca of

the layer is 4 and the volume of the layer is 1, then the number of cubes in the
colleetion is

o A ek
-—
P
oy
X

Hoter The Inforamation provided her — F
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18, Circle POR is inscribed in a quadrilateral ADBCTY. The circle touches side AT ar
point 3, AP = % ¢m, QU = 3 em and DC = 6 cm. The length of side AD is

9 em
10 cm
Il em
2em

P S

19. The distribution of wages in a population is shown below for 2 years.

o
=
E o o 2000
g ® 960
=
5 i
0 R e
E 5 A (o1 »
=1 » —x
= 8] ol
wages
The average wage(s)
1. in [%%% is greater than that in 2000,
2 in 1999 iz less than that in 2000,
3 in the bwo vears are equal, but the variances are unegual.
4. irt the two vears are unequal, bul the varances are equal.
The In rama n provided here r e Aeference ma “hs he
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The graph below shows crime rates and convictions for § ¥ears in a certain
society,

® Crimes

a2 O convictkhg
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Which of the following is correct?

The cause of convictions being on the rise is better law enforcement.
Falling crime rates have slowly reduced the conviction rates also,
There are fewer convictions because crime rate has fallen.

I'he graph must be wrong,

e
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